

PMSC Update

May 2011

Solo & Rally Seasons Begin





See Results Inside

Contents

Next Meeting & Event	P 2
Cob Web Photo Competitor's Gallery	<i>P3</i>
Cob Web Solo Results	P 4
Spring Run Off Rally Results	P6
Events Calendar	P 7
Policy Statement, Death Notices	P 8



Guest Speaker May 25th Chief Robert English Peterborough County/City EMS

Souvlaki Pit Restaurant 75 George Street, Peterborough 7:30 pm

Next Event.....





Come out and test your skill at the first and only Top Gear Canada Solo Traci Registration opens 9:00am - First run 10:00am Peterborough Motor Sports Club \$25 per driver (PMSC discount) See you there.

Cob Web Solo Competitors Gallery











Final Results, #1 - Cob Web Solo-May 1st. Event#1 - Sun 05-01-2011

Total Registered: 14, with Times: 14

					<u>GS HS CSP</u> <u>CM CSS</u>	<u>FSP</u>				
'G Ste	ock' -	To	tal Entries: 3	Trophies: 1	Times					Total
1Tm	G	5 2	Dyck, Ian	1995 Dodge Neon	74.288+OFF	67.038	66.324+2	65.895+	66.120+	65.762
					65.762					[-]5.259
2 m	G	59	Mader, Dylan	1986 Dodge GLH	77.218	74.145	74.225+	71.313+1	73.462	71.021
					71.021					+5.259
3 m	G	5 8	Graham, Susan	2006 Ford Mustang	75.903+	77.042+OF F	74.169+	73.419+	73.128+	72.083
					72.083					+1.062
'H Sto	ock' - '	To	tal Entries: 6	Trophies: 2	Times					Total
1Tm	HS	7	Austin, Glen	1992 Honda Civic	73.696	69.239+	68.545+OF F	67.123+	67.123+	67.123
					67.212					[-]1.111
2Tm	HS	1	Tighe, Phil	1997 Ford Escort	69.949	69.445	68.666+	68.680+	68.776+	68.234
					68.234					+1.111
3 m	HS	4	Demers, Dan	92-Honda Prelude	74.300	72.619+	70.272+	71.390	70.758 +	70.272
					73.047					+2.038
4 m	HS		Newell, Mark	1992 Honda Civic	73.853+4	75.122+1	73.291+	71.673+1	72.536	71.519
					71.519					+1.247
5 m	HS		McCann, Andy	1988 Chevy S-10	75.451	75.524+1	74.135+1	74.731+1	75.010+ 2	73.499
					73.499					+1.980
6 m	HS	6	Kovalou, Tyler	1993 Subaru Legacy	85.777+OFF	77.090+	74.860	75.259+1	76.208	73.913
					73.913+					+0.414
	reet Pi hies: 1		ared' - Total]	Entries: 1	Times					Total
1T m		$\begin{bmatrix} 1 \\ 0 \end{bmatrix}$	Richard, Sean	1990 Mazda Miada	72.915+2	71.319+OF F	72.867+1	75.188+1	71.674+	71.674
					72.651+1					-
	reet Pr hies: 1		ared' - Total I	Entries: 2	Times					Total
1T m	FSP	$\frac{1}{2}$	Grubb, Travis	2001 VW-Jetta	68.268+	68.261+	67.307	67.756+	65.667	65.667
		╡			65.717+1					[-]1.700
2 m 🛛	FSP	${1 \\ 1}$	Green, Nick	1993 Ford Fastiva	67.824+	68.153+1	68.320+2	67.956+	67.367	67.367
		T			67.271+1					+1.700
C Me	odified	l' -	Total Entries	: 1 Trophies: 1	Times					Total
1T m	СМ	3 J	lunkin, Tyler	1997 Chevy Cavalier	68.887	65.204+	63.683	64.568+	63.543+	63.543
		-		i i	64.955	1	1	1	1	1

'Super Stock' - Total Entries: 1 Trophies: 1						Times					Total
1T m	CS S	5	Lynas, Brian	2000 Mazda Miata		77.570+OFF	68.127+	68.231+	67.164	65.012+	64.868
						64.868					-

	Pax Time Results, #1 - Cob Web Solo-May 1st. Event#1 - Sun 05-01-2011										
	Timed Entries: 14										
Pax Pos.	Pos.	Class	#	Driver	Car Model	Total	Factor	Pax Time	Diff.	From 1st	
1	1	GS	2	Dyck, Ian	1995 Dodge Neon	65.762	*0.812	53.398	0.000	0.000	
2	1	HS	7	Austin, Glen	1992 Honda Civic	67.123	*0.803	53.899	0.501	0.501	
3	1	CSS	5	Lynas, Brian	2000 Mazda Miata	64.868	*0.841	54.554	0.655	1.156	
4	2	HS	1	Tighe, Phil	1997 Ford Escort	68.234	*0.803	54.791	0.237	1.393	
5	1	FSP	12	Grubb, Travis	2001 VW-Jetta	65.667	*0.844	55.422	0.631	2.024	
6	3	HS	4	Demers, Dan	92-Honda Prelude	70.272	*0.803	56.428	1.006	3.030	
7	1	СМ	3	Junkin, Tyler	1997 Chevy Cavalier	63.543	*0.889	56.489	0.061	3.091	
8	2	FSP	11	Green, Nick	1993 Ford Fastiva	67.367	*0.844	56.857	0.368	3.459	
9	4	HS	13	Newell, Mark	1992 Honda Civic	71.519	*0.803	57.429	0.572	4.031	
10	2	GS	9	Mader, Dylan	1986 Dodge GLH	71.021	*0.812	57.669	0.240	4.271	
11	3	GS	8	Graham, Susan	2006 Ford Mustang	72.083	*0.812	58.531	0.862	5.133	
12	5	HS	14	McCann, Andy	1988 Chevy S-10	73.499	*0.803	59.019	0.488	5.621	
13	6	HS	6	Kovalou, Tyler	1993 Subaru Legacy	73.913	*0.803	59.352	0.333	5.954	
14	1	CSP	10	Richard, Sean	1990 Mazda Miada	71.674	*0.866	62.069	2.717	8.671	

Final Raw Time Results, #1 - Cob Web Solo-May 1st. Event#1 – Sun 05-01-2011

Timed Entries: 14										
Raw Pos.	Pos.	Class	#	Driver	Car Model	Raw Time	Diff.	From 1st		
1m	1	СМ	3	Junkin, Tyler	1997 Chevy Cavalier	63.543	0.000	0.000		
2m	1	CSS	5	Lynas, Brian	2000 Mazda Miata	64.868	1.325	1.325		
3m	1	FSP	12	Grubb, Travis	2001 VW-Jetta	65.667	0.799	2.124		
4m	1	GS	2	Dyck, Ian	1995 Dodge Neon	65.762	0.095	2.219		
5m	1	HS	7	Austin, Glen	1992 Honda Civic	67.123	1.361	3.580		
6m	2	FSP	11	Green, Nick	1993 Ford Fastiva	67.367	0.244	3.824		
7m	2	HS	1	Tighe, Phil	1997 Ford Escort	68.234	0.867	4.691		
8m	3	HS	4	Demers, Dan	92-Honda Prelude	70.272	2.038	6.729		
9m	2	GS	9	Mader, Dylan	1986 Dodge GLH	71.021	0.749	7.478		
10m	4	HS	13	Newell, Mark	1992 Honda Civic	71.519	0.498	7.976		
11m	1	CSP	10	Richard, Sean	1990 Mazda Miada	71.674	0.155	8.131		
12m	3	GS	8	Graham, Susan	2006 Ford Mustang	72.083	0.409	8.540		
13m	5	HS	14	McCann, Andy	1988 Chevy S-10	73.499	1.416	9.956		
14m	6	HS	6	Kovalou, Tyler	1993 Subaru Legacy	73.913	0.414	10.370		

Spring Run Off Rally

Results

SRO 2011 Leg A

30/04/2011 3:53 PM

Car Driver	Navigator	Class A1	A2	A3	A4	A5	A6	A7	A8	A9	A10	A1 [.]	1	Sub Total	TA Pen	Leg Total
7 Leonard	Leonard	E	0	0	-1	-0.6	-3	0	3.9	0	1.2	0	0.0	9.7	1	10.7
1 Deneka	Gamble	E	0	0	-1	-0.3	0	0	-0.4	0	3.6	0.4	-5.0	10.7	0	10.7
8 Hancher	Doig	E	0	0	0	-0.3	-2	0.7	0	0	2.9	-0.9	-6.0	12.8	0	12.8
9 Pye	Pye	1	0	0	0	-0.5	0	0	0	-1	0.1	0.7	-1.0	3.3	1	4.3
6 Burgess	Ford	1	-0.1	0.1	0	2.1	0	0	0.8	2	1.7	2.3	-1.0	10.1	0	10.1
10 Brownhill	Corbett	1	-0.7	-0.9	-1	20	20	20	20	20	20	15	-1.0	138.6	0	138.6
11 Mader	Green	N	-1.2	-0.7	-1	-0.8	-2	-0.1	-1.5	-4	-0.6	-2.4	-1.0	15.3	0	15.3
5 Weigel	Gospodinnov	N	-0.1	-1	-1	0.4	-1	0	2.6	8	0.4	0.3	0.0	14.8	1	15.8
3 Harvey	Harvey	N	0.3	-0.3	-1	0	-1	0.7	7.1	1	0.1	20	-10.0	41.5	0	41.5
13 Puckett	Charron	N	-1.5	0.2	1	1	3	0.3	7.2	6	0.7	20	-1.0	41.9	0	41.9
4 Lynas	Grubb	N	0	0	0	6.7	3	4.4	11.4	0	2.1	20	-2.0	49.6	0	49.6
2 Blackburn	Rutkay	N	0	0.6	0	3.7	1	0.1	2.6	20	20	-6.8	-1.0	55.8	0	55.8
12 Pineau	Austin	N	-3.7	1.3	0	5.8	12	0.7	20	20	20	20	10.6	114.1	0	114.1

Novice Winners: Nick & Dylan





Expert Winners: Jane & Bruce



Intermediate Winners: Jonathan & Chris



PMSC 2011 EVENT SCHEDULE

ABC = COMPLETED **RED** = Next Events

Event	Date	Location	Organizer				
Ice Race	Feb. 12&13	Minden	Len Arminio				
Spring-Runoff Rally	Apr. 30	Hastings	Louis Cabarbos				
Cobweb Solo	May 1	Douro	Dan Demers				
Watch Winder Solo	May 29	Douro	Glenn Austin				
Speed Weekend Solo	June 26	Kawartha	Ian Dyck				
Mid Summer Solo (Regional)	July 17	Kawartha	Travis Grubb				
GCFR	Aug. 13	Catchacoma	Mike van Rees				
Dog Days Solo	Aug. 14	Douro	Brian Lynas				
Lapping Day	Sept. 11	Mosport	Fab C.				
Fall Ball Solo	Sept. 18	Kawartha	T B D				
President's Prize Rally	Oct. 15	Havelock	Mark Newell				
Last Chance Solo	Oct. 16	Kawartha					

May 18, 2011

Responding to members' request, the Board has created the following policy:

"Information distribution upon the death of PMSC club members or their family members".

(Please note that this is NOT a by-law addition or amendment, but simply a "policy" or "guideline").

Statement of Purpose: Whereas the first stated objective of the Peterborough Motor Sports Club in its constitution is: **"To encourage and foster the spirit of unity and sportsmanship among its members"** – This club feels it is important to foster that unity in many ways, including, where deemed appropriate, offering support by way of condolences to the family of PMSC members, past and present, who have passed away, and to also offer condolences to PMSC members who have lost a close family member.

Therefore: The following policy is adopted;

- 1. Upon notification of the death of a **current or past member** of PMSC, the club Executive Committee, may, <u>at its discretion, do any **one or more** of the following;</u>
 - a. Inform <u>other current club members</u> of the passing by word of mouth, or in writing by electronic/digital means such as email, forums or other formats deemed respectful and dignified.
 - b. Send a written card of condolences to the family on behalf of the club.
 - c. Send an email offering of condolences on behalf of the club to the family of the deceased or to the funeral home involved in the arrangements.
 - d. Or, if deemed appropriate, the Executive Committee may designate a member or members to attend the funeral home during visitation hours as a representative of the club.
- Upon notification of the death of a member's immediate family-that being a spouse, sibling, parent or child- The club Executive Committee, may, <u>at its discretion</u>, do any one or more of the following;
 - a. Inform <u>other club members</u> of the passing by word of mouth or in writing by electronic/digital means such as email, forums or other formats deemed suitable and dignified.
 - b. Send a written card of condolences to the member on behalf of the club.
 - c. Send an email offering of condolences on behalf of the club to the member or to the funeral home involved in the arrangements.
- 3. The club Executive Committee should inform the membership at the next monthly meeting and/or club bulletin, of its actions in either instance.
- 4. This policy does not preclude any individual PMSC member from acting on their own behalf to offer condolences in any way they deem suitable.

Your thoughts are welcome!